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Answer all 100 questions.

APD (F505 SErNon @Rk,
Each question carries one mark.
w508, o o8 Srt,.

Choose the correct answer from the four (4) answers given for each question and
shade the relevant circle in the OMR answer sheet with a HB pencil.
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Do not write answers in the Question Booklet. Use the OMR answer sheet for
marking answers. Read the instructions given on the OMR answer sheet
carefully.

s (5% HED® amrmies FENTEs. BFnoey Frabeets OMR Ssros SOy SR
Tod. OMR S5grs SBed’ 30y Srubes ST SS5ed.

For rough work, use the space provided below the page.
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At the end of the examination, hand over the answer sheet to the
Hall Superintendent without fail.
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Q. Emﬂl:,l:z A

_ PART -1 , T e
GENERAL KNOWLEDGE AND TEACHING APTITUDE ﬂ

The World’s tallest statue of Mahatma Gandhi was unveiled on Feb. 15, 2013

|
(1) Patna (2) Hyderabad ' i

(3) Ahmedabad (4) Bhuvaneswar A
35,8 plesise 15, 2013 %, ERowes’d ©b P 1Koy mod DIBHD 8o, |
(1) S (2) psoers

(3) wirsnerd W gosdeb

i
|
1'
Which sport will be dropped from 2020 Olympics, according to the recent 'I
decision taken by the International Olympic Committee (I0C) ? |
(1) Badminton (2) Wrestling
(3) Cricket (4) Weight lifting

D deso 2020 sdobE, S0 Sohomred 5lsd sobdan 5l dgoweded?

(1) wapad 2) ook
3) &8 () Dol B

Which was the first successfully transplanted organ in humans ?
(1) Heart (2) Liver
(3) Kidney (4) Lungs

Ssn ¥000S%, Drakseterm Atroteds DoogRoned LAl WG D8?
(1) Kool (2) Tdao

(3)  serphosio (4) &00Beo

[2]



In which year, the minimum voting age in India, amended to 18 years from
21 years? ‘ '

FLNE', £ DALEI T KN el Hokity 21 Soi Kod 18 Soneks $50oBwdS

T |
(1) 1979 (2) 1956
(3) 1967 (4) 1989 '

‘Numismatics’ is the study of .............

(X) Insects ' (2) Numbers
(3) Coins . (4) Stamps
“2ogmisedBy? e A2 180D excitie Dabie.

(1) fesen (2) edden
@) e (@) sdobses

The first President to sail in a Submarine in India ..........

(1) K.R. Narayanan

(2) APJ Abdul Kalam

(3) VV Giri

(4) N. Sanjeeva Reddy

P08, HeroBmDE SErrioDs 2R TG ..

(¥ 3.esb. ;:-a-um-_.\ﬁ
(2) 2.8, vwb S0

{(3) .A8

(4) IR, Sodsog

(3] PT.O.
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7.

8.

Q. Booklet

A child who is in the habit of stealing is to be dealt with ..........
(1) Punishment (2) Scolding
(3) Counselling ' (4) Hatredness

Sortiso 35 womuss DETER JOLOBOWIERD APRO v
(1 3Fotdic (2) arhende
(3) Sooezo’ (4) Bgepndo

The creator of learning environment in a classroom i8 ............

(1) Student (2) Teacher
(3) Headmaster (4) Management
BEND KOE® s TTOTP WD v

1 =8 (2) &drprgoiant
(3) erSdrgraieods - | (4) BsdEac0d
Teaching is ............

(1) imparting knowledge to.students.
(2) bringing about behavioural changes among students.
(3) Lecturing in the classroom. :

(4) Promotion of academic excellence among students.
S5 I s

) oty Ty wobohko.

@) Dovstest @ Btine Brossomado.

(3) BOKS HBE &8dgoBEe.

(4) Dovgtpes® DovsRRgDE BOER0 DFBproinae,

. 4 ;
https.//www.freshersnow.com/previous-[y]ear.-question-papers/
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Code A

10. While class is going on, a student is found disturbing students sitting
besides him, the teacher has to ...........

(1) give him corporal punishment.

(2) pay least attention to that student.

(3) find out the reason for it.

(4) quit him out of the class.

B0 KO, S atonsss WHakes LY AR, B @Y, dovtheso gpped
BERBIRE @ SIS TABIEID e

(1) o529 Dgos Sue.

(2) « o K0ed eityes wdoies’s Msce.

(3) 02 Ko TSmo Besiothsse.

j,4-] SHORO KO Sood es :stgx) Wﬁﬁa.

https://www.freshersnow.com/presjous-year-question-papers/ PTO.
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PART - II (A)
GENERAL ENGLISH

11. _Chpose the correct sentence.
(1) I am thinking you are wrong.
(2) I have thought you are wrong.
(3) I think you are wrong.
A4} I was thinking you are wrong.

12. Read the sentences (a) and (b) and choose the correct option about them. |
(e} He visited not only Agra, but also Delhi.
(b) He not only visited Agra, but also Delhi.
(1) Both (a) and (b) are correct.
(2) Only (a) is correct.
(3) Only () is correct.
-7 Both (a) and (b) are wrong.

.. 18. Choose the word with the correct spelling.

) greive
(2) seize : i
(3) protien

A4y recieve

s R T T TR P you on the way you handled the situation.
‘ (1) Complement
(2) Complaint
£3) Compliment
(4) Compilement

[6]

https://www.'freshersnow.com/previous-year-ques_tjon-papers/
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18.

17.

18.

Q. Booklet [
Code ‘E
He will finish the work in a fortnight,
The passive form of the sentence ig ......
(1)  The work will be finished by him in g fortnight,
(2) The work is finished by him in a fortnight,
(8)  The work was finished by him in a fortnight.

(4) The work would be finished by him in a fortnight.

Choose the word that comes before ‘repulsion’ in g dictionary,
(1) reputable |

(2) repulsive

(8 reputation

(4) republic

What a charming girl ........... .. !
(1) she has

) s she

(3) sheis

(4) has she

It is nothing else ........... pride.

Choose the appropriate word to fill in the blank.
(1) but

(277 or

(3) and

(4) than

(7] RT.O.
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Code

19. The climate of Belgium is ............... Pune.

20.

Choose the appropriate option to fill in the blank.
(1) like
(2) like that of

* (3) as

{}]' like as

The Complex sentence of the simple sentence,

‘Only Indians are admitted.’ is ......

(1) You are admitted although you are Indians.

(2) Being Indians is a fact to be admitted.

(3) I wish you to be Indians.

(47 If you are not an Indian you cannot be admitted.




21.

22,

23.

24,

25.

[£:]]

Q. Booklet

v Code
PART - II (B)
GENERAL TELUGU

ST
(1) St (2)  zoscs
(3) Hﬂé _Ii)- m
VT ~ & B0 B Bod P oG ...
1) S558y ses (2) @xsen
(3)  cwrmds Bod 4) 32 %8
E0%0 - e Boens TEPSEL s
(1) srgae 2)  easas
(3) Jow (4) &otsm
B0 emED? e SBOWEY T ...
(1) Ko ewspmr —£2) Jve oo Ty
(8) 2w ST 4 sosoe fmmn::@ 350
THER DRI T Deisd =
) PhEme (2) SEBOKS Soosiidse
(3)  esnyodise 4)  ehgrs




26.

27.

29,

30.

CONE? - s Bed KPS0 STV B0 ...l

(1) oD% ved B B Bed
(3)  clerds Hod (4) @od 500
ERoTD SBote Sutaen Ssaes’ sl BREPPOSTVS .........

(1) Ssesorse (2) HsgeoPe
(3)  ompsoRre M) seorssoidte

& Sas Desats OO ™8 SDeDS e &Maoiﬁﬁﬁ’ -5 ..,

(1) et 505 (2) v vep

(3) Temsw (4) ogsse

#8 Focs’ nussm 3 goEieres, 1 RBrGiiieso sol BEo .........
(1) agps (2) dofe
3) weRen (4) s

ST’ e Bl 1 SUPIIS Sonde L
(1) SRaesfeuses S50k

(9 GRRTE P K00

@) axurPatns wgmsane

(4) 8 Pross oymsate

[10]
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Code
31, ‘e Bome woElone o &oft? e BTSN weoswe .
@) Prghass @ a@y
@) woscng @) woisss

32. ‘el wse’ 6 Boxses QoKsisoe

----------

(1) DEd& So¥sesn

A2) S8 Bowes
(3) o soMwe (4) oy soxwe

34, 588 eruniise ¥ ed 8,8,
1) sigepe
B segrons

TR, &1 0 B2 sy

..........

2) wpsesnygo

(4) etoussiao

35. ‘e6dd wm sa0m BP0 B - e e
.'fl} w3550

----------

—2) 5&E§n
(3 s

(4) ‘-‘M:sgga

[11)




36.

37.

' 39.

40.

Q. Booklet
Code A

§ o,
G B, TOPONes0s MO8 HOPIITN epnd wied So0oDR THE ..

(1) =mEgsdnse (2) ol

(3L sty BioBTR (4) (SRownte

B FHo0IrE BIODH (IO IS B Pserro oEEND uuvvenrs

(1) Doresdso (2) WNersbe

(3) w¥eragste | :;51 a&lmste

e 5005 Bowes BoTra’ - G TED ..

91 rEggse (2)  esuoboBgse

(3) Dxugse 4) engso

(et B HTOcre’ 6 (ogr) SOV TS ...

(1) Sbhesross Dolfard (2) 30cd HgRarg

3y e aiohy TR (4) KEcRo TR 5,
(D mobupe GBS ¢d DEgNo B Pind HEDH 08B ...

(1) g '(2} T
@) s (4) X%
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PART - III (A)
MATHEMATICS

41. IfP = Rs. 1250, R = 4% and if the interest is compounded half yearly, then the
amount in 14 yearsis....... ' '

P = Rs. 1250, R = 4% GF DRGNS SN BG BLoNt K3 Godie 14 Sones

A0BE 1uvnee
(1) 1325 (2) 13265
_A3) 1290 . 4) 13505

42. If the perimeter of a Square is increased by 25%, then the area will he

increased by ........

&3 DGR oty Woey T 25% oD DD PIvees’ BEIOSe ........
1 25% - 48 50%

(3 36% (4) 56%%

43. Find the least natural number which when divided by 2,3, 4, 5 and 6 leaves the
remainder ‘1’,

2,3,4,5,6 o0 gAY 200 Fse ‘1*5:5,;1:&2,9 Wy BOPg wnenses

(1) 61 (2 121
(3 60 (4) 127
(Space for Rough Work)
[13] PT.O.
A oy



44.

435.

46.

Q. Booklet
Code A

Factors of (2x°+ x)? —-4(2x% +x) + 3are.........
2%+ 2)? - 4227 + 1) + 3 DoY) TVEFCLEES ...,
(1) 2x+3)(x-1)(x+1)(2x-1)

(2) -3 E-1E+1D(2x-1)

3 2+ E-DE+1D(2x+1)

M) Cx+3)(x+1)(x+2)(2c+1)

If the interior angle of a regular Polygon is 120°, then the number of sides

ithas..... :
&8 B pirogie Al 187N, ot 120° o o 4He80 P08 <.

) 12 . (2) 10
(3) 8 4) 6

How many lines of Symmetry will a straight line have ?

- ~
s ~
(1) Finite © (2) Infinite
(3) Two | (4) ‘1’ line of Symmetry
2.5 St i) PHTER00 B0y +eevenes
(1) G200 3ORY (2r eoBo
(3) Tot (4) ‘1" Jgergs

(Space for Rough Work)
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; Code A

47, A circle is drawn inside a triangle touching its three sides, then the circleis ... ..

(1) Circumcircle (2) Excircle

(3) Incircle (4) Orthocentre

¥ (@goeiin Gy, o EoereiRo SN fioeds s ........
(1) Sepzem (2)  erimaisho

(3) waﬁ%@&# @) vowdogsia ‘

48. The area of Isosceles right angled triangle is 32 8q. cms., then the sides are ... .

(1) 88 8/2 2) 4,4,8/2
A3 44443 4) 88443

49. Find the simplest Rationalising factor of +/75.

V75 G, 258, 7RSS et oo

M) 15 @ V5
(3 3 | 4 2J3
(Space for Rough Work)
[15] PTO.
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b1.

b52.
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Code

The ratio of the radius and height of a cylinder is 3: 2, and the radius
is 21 cm. Then the curved surface area is ...........

2 155 Yo, N6y 312 Ap@S* émye. TR TR 21 em. o
TR (DE),Be PTPOEI cs
(1) 1488 cm® (2) 1848 cm?

(3) 1848 cm® (4 1820 cm®

Find the Quadratic equation, whose roots are (6, - 2).
(6, — 2) & Pops MFCT Ko B BAEEETO cersanes
1) x22+4x-12=0 (2) x*+8x-12=0

3y x*-8x-12=0 J4) x%-4x-12=0 .

IfA, B are two Sub-sets of a Universal set i, then A Np=.......

A, B 55D D%9000 () Gook), 48520000 90 A NI = e

(1) A (2) B
23 p 4 pnB
(Space for Rough Work) B
[16] . PT.C




53. The angle subtended by a major arc at the centre is .........
@R D5 Son B Dot S e

(1) > 180° © (2 180°
_A3) < 180° | 4) 90°

-54. Ifthe circum centre of a triangle lies on one of its sides, then the triangle is ......
(1) An acute angle triangle (2) Aright angled triangle
(3)  Anobtuse angled triangle (4) None

¥ (Bgn S0XB Soe T LoeRd JolY, ¢ (BLOEBID ...
(1) wess Gitese (2) ecss Bgomnn
(8) w¥Es Bgbesa (4) D& =0

55. Multiplicative Identity for a 2 x 2 matrix is .........
B2 X2 UGN K BBESEN vureen,

1 1) (0 0
1) 1 1) (2) 0 0
3) [1 - (4) s 1]
4
0 1) 1 0
(Space for Rough Work)

[17] FT.O.
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56. The width of a rectangle in a Histogram represents .......
(1) Class interval (2) Mid points of the Class
(3) Frequency of the Class (4) Number of Classes

2300 Do’ 2. BESBEE0 Deey BN erres:
(1) BON® wobbo (2) BOHO DRIV
B) BUNO oo (4) GuRoe Sogy

57. Let fix) =x% glx) =2*+1 for xe R, then (fog) (x) = ...........

fix)=x%, gx) =22+ 1 Vxe R o (fog) (x) 2055 e

1) 2P+x22+1 2 x(£2+1)
B) ¥+1 4) (x2+1)°
[51: 1 19 +234+3%+........ +nd =i
n(n+1) n(n+1)(2n+1)
L) Stk @r 2
o 2
®) L(Zi}_ @ n@n-1)

(Space for Rough Work)




e

59. Ifthe nth termofan AP is 2n + 5, its first termis......
&5 AP 6 n5osten 2n + 5 00 o0 Dot 55850 oo,

(1 7

@ Y

9) 0

(4) 2

c

60. A circular measure of %— is equal to sexagesimal measure of

“L‘

3 SRRORT STerDS SAMSAI M 0RAN SEB0 eveeen
1 120°
@ 90°
(3) 60°

(4) 30°

aaaaaaaa

(Space for Rough Work)

[19]
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62.

63.

& Botede [ A

PART - III (B)
PHYSICAL SCIENCES

If a body is in uniform circular motion, then its angular velocity is ......

(1) zero : (2) varies

(3) equal to one (4) constant P
S T Bened® Boky Bk Sric s o,

(1) wwse I (2)  SPBoE» Hoeed

(3)  ‘eted & Baovsno (4) 3o

£

If the resistance of an Aluminium wire of 2 m length is 8 Ohms, then the
resistance of wire of 8 m length of same material and of same cross-sectional area
1S ........ (in Ohms).

2 Dowf &P Ko warDedate S 26%Se 8 £.5 o, ¢d Sownd’ abedy, wod
056 Frage Ko 8 Doy i S Gy, o (Ss08f) ..........

(11 64 ' @ 32
3 16 4) 8

The total number of electrons present in the p-orbital of the atom having atomic
number ‘16’ is .......

RORTE Sopg 16 ™ Mo Sarely SEsreunER p-uterd 6% dogse D0YO ...

(1) 6 (2) 4

3) 10 (4) 12




64. The calorific value of Glucose is ....., (in Cal/gm).

ArE'E ok, 36%0E Dens (ed/raxedh) ..........
(1) 381 (2) 2.80
(3 6.86 (4) 286

65. If the relative density of iron sphere is 10 and its weight in air is 20 gm, then its
weight in water in grams is ... :

m&é‘zuwnwm%qmmm.ﬁg&b@u 10 ewaasis, De36° g Koot wiisg
moest ...

(1) 20 (2 30
J{’:’}} 18 4) 10

66. COCl, is formula for ......

(1) Tear gas (2) Chloroform

(3) Bleaching powder (4) Phosgene
® COCL, &30 8 @y, Puses ......... ‘

(1) So%b ms ' —2) sjs‘a-so

(3) baok sk COE- 3

67. An example for derived unit from the following is ........

(1)  Ampere (2) Kelvin
(3) Second | (4) Pascal
Eo0 TE” ety BErerad dovndes ...

1Y) eschanb : (2) 388
(3)  Tmso . @) >58

[21] PT.O.
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68. When a body is projected vertically upwards, maximum height reached by it is
equal to acceleration due to gravity in magnitude. If & = 10ms2, then the initial
velocity of body in ms! is .....

&S DN ey B8 D0 b T M0 Jo, MEMHHE BOSFEROR HEIESS,
g =10ms? eaws SR ok, VKo ms™! o ...

(1) 19.6 (2) 14.14
(3) 10 A44) 12.2

69. The Kinetic energy of a body of mass 2 kg moving with a velocity of 0.1 m/s in
joules is .....

0.1 m/s S8’ 2itis, 2 kg o G508 o Sikesp Bk, KBHE FES |.........

(1) 1x10°2 (2) 1x1073

3) 2x10°2 . 4) 2x10°8

70. Velocity of Sound is more in

(1) Air (2) Water

(3) Copper (4) Rubber

S0 Do B D ..., | | |

A m™d (2)

3) o | @ seb
[22]
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PART - III (C)
BIOLOGICAL SCIENCES

(1) Selaginella
(2) Moss

(3)  Funaria
(4) Maize

T o0 06" Bsdais Pobstetn boxthiust 20h Booy, ..........
(1) ST

(2) w0

(3 Diocir

@ wnes,

In respiration, for each molecule of FADH,, ......... molecules of ATP are formed

and for each molecule of NADH, ......... molecules of ATP are formed in the
Mitochondria through electron transport.

(1) 3,4
{2) 4,3
(3) 2,3

(4) 3,2

[23] ET.O.
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74.
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Read the following :

(a) Marasmus is a disease due to the deficiency of both proteins and calories.
(b) Kwashiorkor is a disease due to protein’s deficiency.

(c) Hepatitis is a viral disease seen in humans.

Identify the correct statement / statements from the above.

(1) aandb _ (2) a,b,c
(3) bande | " (4) aonly
B4 (308 TN DEIPBeS.

(@) Doohah e oo, Sode %8 Ke Yeslt.
(B) THhArEE e Phdioo i Be Yool

(c) wHroPes’ Y THD SeolEH0 ol PR,

> Toed® S0GLN AR /TN Kgowsnw.

(1) aSsBain b (2) a,b,c

(3) bxebcixc (4) asSrgas

'The word ‘banana’ can make you to remember the shape and colour of banana

eventhough you do not have banana infront of your eyes. The part of the brain
responsible for this is .....

(1) Cerebrum (2) Mid brain

(3) Cerebellum (4) Medulla oblongata

BB 6% BE50 Dt etlbetRe BIEENaNE, T esRms, Yol B9 5
Ba0est Doiesgran. BRS SRR oSS IR e

(1) Doy (2) Sl Dose

5

(3)  esholoniymn (4) Soepioogioe

[24]

76.

76.

T



75. The scientific name of Neem tree is

......

(1) Azadiractha indica (2)
(3) Helianthus annuus (4)
S0 o), THO TEOBAS <..n...n.,
A1) wserdsy gods (2)
(3) &r®awsh esnd (4)

]

76.

(1) Prophase - IT @)
(3) Metaphase - I . )

o050 s S 65%6° 5 anees Sotss,
M) pEse &s - 11 ()

(3) soggpess-1I - @)

77. One of the characteristic features of Xerophytes is

The stage of Meiosis in which 5 sub-stages are present is

Q. Booklet

Code

Dalbergia regia

Triticum vulgare

GrenPasr Sear

B8 536

Prophase - I

Metaphase - I

s 55 - 1

8053 &% - I

------------

M7 Large leaves (2) Rhizophores

(3) Green stem (4) Weak roots

OG8 Fo0K,06% ¥ ofersos .........

(1) ey essoen (2) p&EYEes

(3) 28D sroEnwn (4)  weirisdon di
[25]

PT.O.
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80.
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"Code

(1) Indian Council for Apiculture Research.
(2) Indian Collaborative Agronomy Reinvestment.
(3) International Council for Ayurvedic Research.
(4) Indian Council for Agricultural Research.

(1) zodanS DS $6 Msens 638,

2)  30daHS ForeuddlS wrisds 85535200,
(8) owtysdd 08 36 escndnf &ih,.
(4)  godcns TR $6 ezesE 816,

The scientist associated with plant fossils is
(1) Jagadish Chandra Bose (2)
(3) Saleem Moizuddin Abdul Ali (4)
Y Sowed Sowogo o TEI .........

(1) exbSseps® 1?)
(3) 8o BaowerdS wepd wd (4)
Penicillin is extracted from a ........

(1) Fungus - (2)
(3) Bacteria (4)

200DE AD Beed Bosrsy I,

(1) sbegsen - 2)
(3 erfocsr (4)

[26]

Birbal Sahani
M.S. Swaminathan

D86 Birsn
D805, SRoTES

Virus

Forteas
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82.
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PART - III (D)
SOCIAL STUDIES

Arctic Circle is called as ......

(1) 23%2° Southern Latitude (2)

(3) 66%° Northern Latitude 4)
es8;,638 Sed Bokm ...

’{y 2372° 53es wgrcto (2)
(8) 66%2° &85 egroto (4)

232° Northern Latitude

66'4° Southern Latitude

23%2° &85 egrotc
66Y4° &3rs wpoio

To provide irrigation facility, Public Works Department was established during

the period of this Governor General.
(1) Lord Wellesley
(3) Lord Rippon

(2)
(4)

Lord Dalhousie
Lord Cornwallis

RSP o oot Se, BOE 96, APFaood B+ M med Feos

Joeased.

(1)  of 38y
(3) of oo

12)
(4)

This is a ‘Social Right’.
(1) Right to vote’

(3) Right to work .
56" e k),

(2)
. (4)

(1) Eaw "'.J"E:rb

3) 2 i, 4)

27

of &g
of T5eh

Right to property
Right for good health

9
e ;'}15::{,

esG'riy e Wity
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Relation between income and savings .......... o
(1) Savings increase with the increase of income.
(2) Savings decrease if income increases.
(3) There is no relation between income and savings.
(4) Savings always stable,
BEAR0 DOA MEPIL Mo Bowedo ..., -
(1) esoaio 2088 ey DesHsBooA.
2)  esorao 0AS Doy B8, i
3 emrairds, s Bowoto B,
(4) S0P dosess PuRe,

(i

This project is constructed across ‘Manjeera' river.
(1) Hussain Sagar (2) Himayat Sagar
(3) Nizam Sagar (4) Nagarjuna Sagar
B0t 5ap NOpEReds @&k ...........
(1) SwdS x5 ' (2) rdrand 3n6
(3 Qewo 36 (4) gy 36
First All India Khilafat day was observed on this day,
(1) 8th April, 1919 (2) 10th March, 1919
(3) 27th September. 1919 (4)  17th October, 1919
BER0 eodo 56 Do & etoveds S
(1) 85 9%5 1919 (2) 105508, 1919

(3)  27% eeb 1919 #) 175 «8%8 1919




87.

88,

89.

P eeds [A

The flat bottommed temporary lakes in tropical deserts are known as .......

(1) Playas (2) Wadies

(3) Ergs 4) Oasis

SO 08" No GrBoo SERI dof EEH,D SBws Badsor B0t
(1) osres @) Ddeo

(3) e A wcirhbes

The holy book of ‘Jews’ is called ....... i
(1) Bible (2) Apocrypha

(3) Illiad - (4) Animid
CHOEL BB (HOBO ..........

(1) 20§ @) edg
3) 30a%E (@ G

This subject is included in the concurrent list .

(1) Education g (2)  Forests

(3) Defence of the country (4). Postal services
30 &S0l 2DEED woto ...,

@) 25 (2) eEHes

(3) dutyes (4) B whiow

Bills of exchange written in regional languages, national languages are called ....

(1) Bonds (2) Bank credit cards

(3) Debentures (4) Hundies

(oA gries® M), erda gPas® MO [Tctonds D8, op Feliso s Dsom HEcurte.
(1)  emotioen 2) erel BAS e

(3) &Beubes (4) Trvedes

(298] ET.O.
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91. Duration of day light at 41° latitude is ......

(1) 17 Hrs © (2) 14 Hrs
(3) 15Hrs (4) 16 Hrs
41° egroto B DI BRPHEN ...

(1) 17 ronen (2) 14 Konew
(@ 15 Kenes (4) 16 Kounew

92. The followers of John Calvin in France were called ......

(1) Puritans (2) Huguenots
(3) Presbyterians (4) Catholics
58" 08 S mammaﬁam OS>,

(1) PrPwses (2) woESes
@)  @nBdchSes (4) swdEes

93. The alluvial soil with more clayey and darker colour is known as ......

(1) Bhabar ‘ (2) Khader

(3) Kallar (4) Bhangar
D w08 BoBnE Butth HFed’ Ko BDYLRL F4 Do beo.
(1) b (2) psb

©f 56 (4) erord

94. The measures of this King gave rise to the symptoms of revolt from French

people.

(1) Charles - IX (2) Charles -X
(3) Louis - IX (4 Louis-X

T O BRoKaR Do Hg Bod Puvs® Bmhoms ofrfes BBEr.
(1) $o-IX - (27 $25-X

(3) ercr-IX (4) eoroar-X




95.

97.

¥ P tede | A

The electoral principle that was first introduced in India for thege bodies in 1892,
(1) Provincial Councils (2) Local bodies
(3) National Council (4) State Legislatures

PEBERI0E’ (e d¥e grss 1892 &° & Roge> AWros T Bed Dsdes.
(1) obap ssoseses (2) 0% soges

(3) endoh Booxd (4 TP Dsnges

This industry comes under organised sector of the Economy.
(1) Agarbatti making (2) Beedi making
(3) Hand paper manufaeturing (4) Textiles industry
T D0F QY Ba5HE° BaShs Sormdd Bosss,

(1) erbede sosms (2) ddo vosrb

3F dosnse vas (4) 3 womse

This state is the most important producer of Chromite.
(1} Rajasthan (2) Orissa
(3) Madhya Pradesh (4) Andhra Pradesh

ER 50 eBBEm Gy 35 -~ J—
(1) oeds @ o
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98. This was the secret revolutionary organisation started in Italy to establish
political independence. :

(1) Carbonari (2) Plombiers

(3) Red shirts (4) Young Italy

3008° Tredan Fvoo Dorer Botoets miss (DbeDosesds Garvids D8 BOHIS e
(17 =68 (2) Sowb,

(3) °&sG,. - (4) ool geb

99. This Article of Indian Constitution provides that Minorities shall have right to
establish and administer educational institutions of their choice based on
religion or language.

(1) Article - 29 (2) Article - 28
(3)  Auticle - 31 (4)  Article - 30

TES Tunolod T wfldine ESte e SorrE HPe T B0 edbigrem
wiSeloraon Moo Bo g (OVaND Sorgdegi Dome T Jtren Hiae.

(1) eddasse - 29 (2) eddcbos - 28

(3] whawive - 31 (4) * eddassse - 30

100. 'Mining' is related to this type of occupational structure of Indian economy.

(1) Tertiary (2) Secondary
(3) Primary | (4) Both Secondary and Tertiary
Q500 @:ssém' OB a0 DS B4 iHBBEMIS IoSotieod.
(1) gdaw (2) &5daw
(3Y g (4) &b Bda Bybdw
[32]
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